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CHEMISTRY 

Paper II 

Organic Chemistry 

Time: Three Hours] [Maximum Marks: 33 

Note Answer all questions. The figures in the right 
hand margin indicate marks. 

3hT/Unit-I 
1. (a) Hfra ia3AifA 3AT 3fr5 

2 

Methylamine is basic than more

ammonia. Why ? 

JDB_113_*_(7) (Turn Over) 



(2) (3) 

(6) 1B TU ? 37e-3I_À T 

fzurut fefaq 
2 

Write a note on the structures of singlet 
and triplet carbenes. What is dipole moment ? Compare the 

polar properties of O-dichlorobenzene and 

P-dichlorobenzene. 34T/Unit- 

(c)aiHR 2. (a) taftT fuu 77 fr5 ata 

37-TRH4ATS 2 

Explain the difference between racemic 
Explain electrophilic and nucleophilic 
reagents with suitable examples. mixture and meso compounds. 

2 
37TOR

Explain the geometrical isomerism.
2 (a) HAft TTa 3QIET HTEd FHSI 

Explain mesomeric effect with suitable 

examples.
Explain the retention and inversion of 

configuration. (b) fafafea amai/3T4-/qT4i

32T/OR 

fatey: 

CH4.CH,CH3,CH Describe the sequence rule. 

Write down the hybridization 

geometrics around the central atoms in 

the following molecules/ions/radicals 

and 

faa-HI 
Discuss the threo and erythro forms of 

CH4,CH,CH3.CH diastereo 1somerS. 

(Turn Over7) 
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(5 (4) 

Explain the reactivity of cyclopropane with the help of banana bond. 3 

3RT/Unit-IV What is specific rotation? Discuss the 

factors affecting it. 
4. (a) TRIfT%Í5 fF44 *a ? a frua 4. 

3 
361/ Unit-11I 

What is Markownikoff's rule? Explain 
3. (a) I TÅTT HETTn- 

this rule on the basis of electronic 
f displacement.

(6) igf if1,3-7ars T T 
1,4-tT FHTTSI 

Describe the different conformational 

structures of n-butane with the help of 
Newman projection. 

Explain the 1,4-addition of bromine on 

34 conjugated compound 1,3-butadiene fad ifaTI 

3HTOR Discuss the Baeyer's strain theory and its 

demerits. 
3 

(a) yfro ITtAT FAIS 37eaTOR 

Explain the hydroboration of alkene. 
(a) HISTTEHA GEI FEYU, T1 HyUj 

3 

Chair form of cyclohexane is more stable 

than its boat form. Why ? CH = CH, +10 
1% T KMnO4 

+H0 
3 
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(Continued) JDB_113_ *_(7) 

JDB_113_*_(7) 



(6) (7) 

(6) Fh f4 *? 3ET6T HfEa 
(i) CH3-CH2-CH 

3 
Br 

-CH3- (sci (KOH)) 
What is Huckel's rule? Explain with 

examples. 

3HNaTOR 
(ii) CaC2 +2H20 

(a) TETU f4su 
Complete the following reactions 

( CH2 = CH, +[o] What is nitrating mixture ? Explain the 

mechanism of nitration of benzene. 
+H,O% alkaline KMnO4 

(6) ts-7142 hct T feuut 

fafayi (i) CH3-CH2- CH 

Br 
Write a note on Friedel-Crafts alkylation. 

- CHKOH (alcoholic)) CH3 

(in) CaC2 +2H0 

6T/ Unit-v 

5. (a)OH FE TT, ¢u-èfYIE6 TT 
HHTTS 

Explain the o, p-directional property of 
- OH group. 
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